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UTo Hacu€T cerogHsawHen Poccnm 1 Toro nyTn, no KOTOPOMy CTpaHa ABMXETCA K 6onee
cBOOOOHOM SKOHOMUKE U K Noao0HbIM Belam? Kak Bbl cuntaete, Poccus ganeko
npoAaBuHynack no 3ton gopore? No gopore K Ton cTpaHe, 0 KOTOpOoK Bbl MeydTaeTe. [ae
Poccusa cenyac, Ha nonnyTn, NOYTU AOCTUMNA LENN NN OYeHb Aaneko ot Hee?

B 3TOM cMBICIIE MOKHO CKa3aTh, YTO MBI JAJIEKH OT 1€MW, M qymato, 4To MBI emié TOJIBKO B HAa4ase
nytd. Ho y MeHsI HeT COMHEHUH B TOM, YTO IyTh, KOTOPBI MBI H30HUpaeM, abcofoTHO BépeH. 1
HAIIIA 33]1449a 3aKITI0YAETCS B TOM, YTOOBI UATH MO TOMY ITyTH, JENasi HAITY MMOJIUTUKY MPeaEIbHO

OTKPBITON ¥ MOHATHOH OOJIBIIMHCTBY HAIINX COIPAXK/IaH.

Y rocyaapcTBa JOSKHbI ObITb OTHOLLEHWS C KPYNHbIM 6U3HEecOM?

O0s134TeNEHO, TOTOMY YTO OT KPYITHOTO On3Heca OueHb MHOTOE 3aBUCHT. Ho 3T oTHOMICHNS
JTIOJDKHBI CTPOUTHCS HA OCHOBE TOTO e CAMOTO 3aKOHa, TeX ke 00mux npaBwmwi. Kerdtu, u cam
KpYIHBIA OM3HEC 3aMHTEepecOBaH B TOM, YTOOBI B cpei¢ ON3HECMEHOB Y TOCYIApCTBA HE OBLIO

(haBOPHATOB, YTOOBI BCE OBLIN TTOCTABJICHBI B PABHBIC YCIOBUS.

To ecTb OBLEHME C KPYMHBbIMU BU3HECMEHAMWN HE UCKIIOYEHO?

Konéuno. S cuntaro, 4To rocy14pcTBO MOJDKHO MPUCTYIINBATHCA KaK K pab0YnMm, a ux
BBIPA3UTEISIMH SIBJSIIOTCS PO COI03bI, TaK U K MPEACTaBUTENISIM KPYITHOTO OW3HECa,
accolMAIusIM npeanpuaumareneid. OT Tord, Kak OHU CTPOAT MONUTHKY CBOUX (DUPM, CBOMX
KPYITHBIX KOMITAHHMI, MHOTOE 3aBACHT. 3a46M K€ AEIaTh B, 4TO MHE TO Ge3pasiidno? ITo

HEeNpAaBUIBHO. ['0CyAApCTBO HE TOIKHO KOMAHI0BaTh OM3HECOM. DTO NPABJA.

A Kak Bbl OTHOCUTECH K Npécce?

Eci Bac MHTepecyeT IPAHIIKIL, TO 5 CYUTAI0 CBOGOIHYIO PECCY OIHIAM H3 BaXHEHIIIX
SIIEMEHTOB IEMOKPATIHYIECKOro 601ecTBa. JT0 He JUIs KDACHOTO CIOBLE. ITO MO& BHYTpEHHEE
yoexaénue: 6e3 mpéccel He OyeT 310poBoro 0o6mecTBa. Ho ¢ apyroit croponsl, yTo Takde mpécca
- 5TO He TOIBKO KOMITBIOTEPEI, TeIEKAMEPHI, THITOTPAGHH. ITO SIIE 1 JTIOIN. A JIFOIH KUBYT B
Ob1ecTBe, KOTOPOE MEePEKUBACT TPYAHBIC BpeMeHa. U ¢ mpéccoid MpoucxOAT Te K€ CAMbIe

HEMPOCTHIC MPOIIECCHI, B TOM YUCIIE U "TIpUBATH3AIMS" )KypHAITUCTOB. Tak ke, HanpuMep, Kak U B
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HE(PTET430BOM KOMIUIEKCE, KOTOPOMY MBI YICIWIHA CTOJIBKO BHUMAHUS. [103TOMY 1 OTHOIIYCH KO

BCceMy AToMY PHITIOCOPCKH.

Y Bac Takas penyTtauus 4YenoBéka B 06LLEM AOCTATOYHO CAEPXKaHHOr0, 3aKpLITOro.
MoxeT BbiTb CBA3aHO C NPOheCcCUOHANBbHBbIM ONbITOM. [py3bsi. ECTb Nn BOOOLWWE ApY3bsi?
MHOro nu 3Tnux apysen? NameHsieTca N AUCTaHUMs ¢ Ballen CTOPOHbI? C ux?

YV MeHs ecTh, KOHEUHO, JIpy3bsi. K cokanéHuio He Tak MHOTO, @ MOXET K CHACThIO, IIOTOMY YTO
3TUM TOJIBKO OOJIbIIIC HAYUHACIIH JIOPOXKHUTh. 1o moau ¢ KOTOPBIMHU I TIOAJIEPIKUBAIO APYKECKUE
OTHOIIEHUS B Te4éHHe MHOTHUX JIET U CO MIKOJBHBIX JIET, C HEKOTOPHIMH U3 HUX. C HEKOTOPHIMH C
YHUBEPCUTETCKUX JieT. Hamr xapakTep oTHOmEHMI He MeHsieTcst. He 9acTo ymaéres BCTpedarhes ¢
HUMH B ITOCII¢HEE BPEMSI, HO 3TH BCTPEUM MPOUCXOAAT TeM He MEHee perysipHo. OHU IPUEe3KAI0T

ctond. Korna s 6p1Baro B [InTepe, 3HAYUT MBI TaM BCTPEUAEMCS.

CnoBapb — UHTepBbIO ¢ MyTUHBLIM - 4

1 IIyTh path; way

1 JIBHATa+...CSI move (in a certain direction)

2 | monOOHBII similar

3 MIPOJBUHY+...CS progress, make one's one (to a certain point)
4 | Ha moNmyTH be halfway

6 | comHéHHE doubt

6 | u3Gmpaii+ // nu3bepar (e) select

6 | Bép/ublii (e) correct; right (See Grammar)

7 | 3amaua task, challenge

7 | 3aKiro4daii+...cq B consist (in)

8 | mpenénpHbBIH extreme

8 | corpaxxaaHuH fellow citizen

9 | rocyaidpcTBo government

9 | kpymHbIi 013HeC big business

10 | 3aBHce+ OT depend on

11 | cTpOu+...co be built

11 | ocHOBa base; basis

11 | 3aKOH law

11 | mpaBmito rule

12 | cpena surroundings, environment

13 | paBHBIH equal; even

14 | obménne relations

15 | MpUCITyIIUBaii+...cq // IpUCITyImaii+...cs listen to, heed, consider the view of
15 | kak X... Tak 1 Y (On next line) justas X, so Y

16 BLIpaSﬁTeHL mouthpiece; spokesman; representative
16 | ABJISTH+...CcH be (See Grammar)

16 | mpogcoro3 labor union

16 | IpenCTaBUTEINb representative
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17 | IpeanpHHUMATEINb

owner,; employer

18 | 6e3pasnnidHO + dative

BcE paBHO

19 | kKoMaHgoBa+

control; tell what to do

20 | mpécca (Note the -a!)

press

21 | mpuHIHIT

principle

21 | BaXHEHIIUIT

most important

22 | meMoKpaTHYecKHii

democratic

22 | 00IecCTBO

society

22 | 3T0 He Iy KPACHOTO CIIOBIIA

pretty word.)
23 | yoexxkaénue conviction; belief
23 | 3mopOBBIi healthy
24 | Tenexamepa TV camera
24 | Tumorpadus publishing plant
26 | B TOM uncné including
27 | HedTera3zoBnii oil and gas

27 | xOMILIEKC

concern; industry

27 | ynmemni+ devote

27 | créapko 5o much
29 | B O01IEM in general
29 | IOCTATOYHO rather

29 | caépxaHHbIH

reserved; doesn’t express oneself

30 | cBSI3aHHBINA connected
30 | OmBIT experience
33 | mopoxu+ + instrumental value

34 | B TeuéHue + genitive

over the course of

[ 97.A Correct; Right:

MpaBbi / BépHbin / MpaBunbHbIN

I’'m not just saying that; I really mean it (It’s not just for

In line 5 we find the phrase nmyTh, KOTOPBIii MBI H30MPAeM, aDCOJIOTHO BEépPeH the path (way) which we are
choosing is absolutely correct. Let’s look at several ways of expressing correct; right.

IIpassiii, which normally appears in the short-form (with shifting stress: npas / npasa / npassl) is used only
with people, to indicate who is correct:

Tre1 0611 ipaB. OwIIEM OBLT HE aXTH. You were right. The film was nothing special.

OH4 gyMaeT, 4TO OHA BCErJa Mpasa. She thinks she’s always right.

Eci ou# MPABBI, TO MHE KOHEII. If they 're right, then I'm (diddly-doodly) done for.

(We’re ignoring the other meaning of “right, ”” — as opposed to “left”, which also uses mpaBslii: OH comau
NnpaByo HOry. OHA nimeT npaBoi pykoi.)
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Both BépH/bIii (e) and mpaBuib/Hblii () are more or less synonymous, and mean correct, not false. Both are
used with noun like ideas, answers.

OH nan npABUIBHEIHN / BEPHEIH OTBET He gave the correct answer/
Omné cnénana BepHBIH BEIOOD / IPABHIIBHBINA BEIOOD. She made the right choice.
Bépno! / [IpasmibHO! That'’s right.

As a general rule, you can stick with mpaBmasnsiii, which is more colloquial than Bépubrii. Also, there are
certain instances in which only npaBuJbHBIii is possible:

Ms1 é1eM B IpABIITBHYTO / *BEPHYTO CTOPOHY? Are we going in the right direction.

* Indicates ungrammatical construction

l|97.5 Depend on 3aBucé+ ot ||

In line 10 we find the phrase moTomy 4To 0T KpymHOro 6113Heca 6ueHb MHOTO€E 3aBHCHT because a lot depends
on big business. Let’s look at this very useful and common phrase 3aBiice+ oT + genitive depend on.

As with English depend on, 3aBrice+ ot can mean either:

1) a particular outcome (situation) is determined by a thing/event:

Mo¢ OyayIiee 3aBUCUT OT 3TOTO 3K3aMEHa. My future depends on this exam.

10 3aBHCHT OT IIOT'ObL. It depends on the weather.

10 3aBiiCENO OT erd HACTPOEHUSI. It depended on what kind of mood he was in.
Bcé 3aBrcHUT OT TOrO, YTO OHA CKAXKET. It all depends on what she says (will say)..

2) be dependent on (for financial support):

OHA 10 cUX TTOp MaTepUATHHO 3aBUCHT OT She still depends on her parents for financial
pOIATENEH. support.

Sl He X04y HH OT KOTO 3aBHCETh. 1 don't want to depend on anyone.

OHM HU OT KOT'O HE 3aBHUCHIT. They are not dependent on anyone.

To say the thing for which someone is dependent (usually money), use B cmbIcie + genitive (i.e., not 1uis or 3a):
Mii1ia 3aBUCHUT OT KCHBI B CMBICTIC JIEHET. Misha depends on his wife for money.

You cannot, however, use 3aBuce+ oT to mean rely on (because [person] is dependable), as in You can depend on
me to be there or You can depend on John.
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% MNepeBeanTe Ha pyccKuii:

Sorry, your answer is incorrect.

That's right!

I don't like to depend on anyone.
Our cat depends on us for food, but not for money.

She made the right choice (Bb160p). As usual, I am right.

N L W =
A

It all depends on the weather.

l| 97.B Fancy Shmancy Word for Be: fABnau+...cs ||

In line 16 we find the phrase a ux BeIpa3ATeJsIMH SABJISIOTCA NPogcor03bl and their (the workers')
representatives are the labor unions. Let’s take a look at the use of the verb siBaistii+..cs1 be.

He depends on his grandmother for money.

First, we should note that siBJsiii+...cq1 is found very (very!) often in social science texts, newspapers, etc.
Basically, siBJistii+...cs is a fancy word for be and serves to connect two nouns, one of which must appear in the
instrumental, the other in the nominative. (Yet another use of the “instrumental of existence.”)

How do you determine which noun goes in the nominative, which in the instrumental? Put proper nouns and
pronouns (MockBa, JIénun, oH4) in the nominative and the other noun (often a category — see below) in the
instrumental. Some examples (note that word order is quite flexible):

Cronuneii Poccrn siBisiercss MOCKBA. The capital of Russia is Moscow.
[Iytun asisiercs npesuaéaToM Poccnm. Putin is the president of Russia.
I'epoem pacckaza sisiercs [1éts XKepeOsikum. The hero of the story is Petya Zherebyakin.

We actually saw a few examples of these nominative/instrumental pairs with the “real” verb be in our discussion
of education. Recall:

Mo¥uMm IoOUMBIN TPeAMETOM OBLITA MAaTEMATHKA. My favorite subject was math.

Mo¢éii crienuaabHOCTRI0 Oy IeT OTUTONOTHSI. I’'m going to major in political science. (My major
will be political science.)

Both proper nouns (Maremarnka, moJToNIOTHA) are in the nominative, while the more general noun, the category
(JTFOOVIMBIM MPEIMETOM, CIICITUATILHOCTRIO) are in the instrumental.

What if there are no proper nouns or pronouns? Basically use the same strategy: the more specific noun appears
in nominative, while the category to which it is being assigned appears in instrumental. Some examples:

MoJ10KO SBISIETCSI CAMBIM JIFOOUMBIM HAITUTKOM y Milk is the students’ favorite drink.

CTY/EHTOB.

Camoii TIABHOW MPUINHOM rpaxkTAHCKOW BOHEI B The most important cause of the American Civil
Amépuke SBIISIOCH pAOCTBO. War was slavery.
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___________________________________________________________________________________________________________________________]

So, in the first example above HamiTOK drink, beverage is the general category to which Mmosoké belongs. There

are several kinds of drinks, one of which is mosokoe. The same applies to the second example; there may have
been several causes for the war, one of which was slavery.

We can tell you that there are some instances in which both possibilities exist, i.e., you could switch cases on the

nouns. But since siBJsiii+...cq1 is almost never used in the spoken language, you don’t have to worry about this —
unless you plan on doing a lot of social science writing in Russian.
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97-11 ypok JdomaluHee 3apaHne
25 YnpaxHéHue 1 OTBETbTe Ha BONPOCHI:

1. Ilytun moBoOseH ycnéxamu B 9koHOMUKe? Kak OH cunTaeT — BCE M3MEHUTCS K JIy4IlIeMy WX K XyaiemMy?

2. Uro [IyTtun nymaer o xpymHoM OnzHece?

3. Translate the phrase: (32-33) K coxxanénuro He Tak MHOTO (JIpy3€ii), a MOXKET K CHACTHIO, IIOTOMY YTO 3THUM
TONBKO OOJBIIEe HAUMHACHTL TOPOKUTh. (Think about ellipsis!)

25 Ynpaxuénne 2 [MepeBedyiTe Ha PyCCKMil:

1. He gave a correct answer.

2. Without a free press, there will not be a democratic society.
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97-1 ypok — [lomaluHee 3aaaHue Nma

2< YnpaxHénue 3 Write sentences using siBRisin+...cs

1. Bammuartén / cromima (capital) CILA.

2. Ipesunénr Poccuu / [1yTHH.

3. «l'magudTop» / Mo# moOAMBI GrIbM.

4. Owna/ nepBas ®EHITMHA B KOCMOCE.

5. Cawmas nemépas mammvHa B mupe / FOro.
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